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QUESTION 1

Examine the following Entity Relationship Model diagram: 

Which three statements are true? (Choose three.) 

A. SKILL is a multi-valued attribute. 

B. YEARS_EMPLOYED is a derived attribute. 

C. YEARS_EMPLOYED is a key attribute. 

D. SKILL is a composite attribute. 

E. EMP_ID is a key attribute. 

F. EMPLOYEE is a weak entity. 

Correct Answer: ABE 

 

QUESTION 2

You need to produce a report for mailing labels for all customers. The mailing label must have only the customer name
and address. The CUSTOMERS table has these columns: 

CUST_ID. NUMBER(4). NOT NULL 

CUST_NAME. VARCHAR2(100). NOT NULL 

CUST_ADDRESS. VARCHAR2(150) 
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CUST_PHONE. VARCHAR2(20) 

Which SELECT statement accomplishes this task? 

A. SELECT * FROM customers 

B. SELECT name, address FROM customers; 

C. SELECT id, name, address, phone FROM customers; 

D. SELECT cust_name, cust_address FROM customers; 

E. SELECT cust_id, cust_name, cust_address, cust_phone FROM customers; 

Correct Answer: D 

This answer provides correct list of columns for the output. 

Incorrect Answers 

A:. This answer does not provide correct list of columns for the output. It is not required to show all columns of the table.
Symbol "*" is used in the SELECT command to substitute a list of all columns of the table. 

B:. This answer does not provide correct list of columns for the output. There are not NAME and ADDRESS columns in
the CUSTOMERS table. 

C:. This answer does not provide correct list of columns for the output. There are not ID, NAME, ADDRESS or PHONE
columns in the CUSTOMERS table. 

E:. This answer does not provide correct list of columns for the output. It is not required to show all columns of the
table. 

OCP Introduction to Oracle 9i: SQL Exam Guide, Jason Couchman, p. 20-24 Chapter 1: Overview of Oracle Databases 

 

QUESTION 3

Examine the data in the ORD_ITEMS table: 

Evaluate the following query: 
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Which statement is true regarding the outcome of the above query? 

A. It gives an error because the having clause should be specified after the group by clause. 

B. It gives an error because all the aggregate functions used in the having clause must be specified in the select list. 

C. It displays the item nos with their average quantity where the average quantity is more than double the minimum
quantity of that item in the table. 

D. It displays the item nos with their average quantity where the average quantity is more than double the overall
minimum quantity of all the items in the table. 

Correct Answer: C 

 

QUESTION 4

View the Exhibits and examine the structure of the products and sales tables. Exhibit 1: Exhibit 2: 

Which two SQL statements would give the same output? (Choose two.) 

A. SELECT prod_id FROM productsINTERSECTSELECT prod_id FROM sales; 

B. SELECT prod_id FROM productsMINUSSELECT prod_id FROM sales; 

Latest 1Z0-061 Dumps | 1Z0-061 Study Guide | 1Z0-061 Exam Questions                                4 / 6

https://www.passapply.com/1Z0-061.html
https://www.passapply.com/1Z0-061.html
https://www.passapply.com/1Z0-061.html


https://www.passapply.com/1Z0-061.html
2022 Latest passapply 1Z0-061 PDF and VCE dumps Download

C. SELECT DISTINCT p.prod_idFROM products p JOIN sales sON p.prod_id=s.prod_id; 

D. SELECT DISTINCT p.prod_idFROM products p JOIN sales sON p.prod_id s.prod_id; 

Correct Answer: AC 

 

QUESTION 5

Examine the structure and data of the CUST_TRANS table: 

Dates are stored in the default date format dd-mon-rr in the CUST_TRANS table. Which three SQL statements would
execute successfully? 

A. SELECT transdate + \\'10\\' FROM cust_trans; 

B. SELECT * FROM cust_trans WHERE transdate = \\'01-01-07\\'; 

C. SELECT transamt FROM cust_trans WHERE custno > \\'11\\'; 

D. SELECT * FROM cust_trans WHERE transdate=\\'01-JANUARY-07\\'; 

E. SELECT custno + \\'A\\' FROM cust_trans WHERE transamt > 2000; 

Correct Answer: ACD 
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